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✍✍Poveži dele besed. Dopolni in preberi.

      kla                ga

       ža                divo

      rez                belj

     kleš                če

       že                ljača

      izvi                pa

        vi                jak

      raš                jač

        pi                belj

     sko                la

K _ _ _ _ _ _ je težko.

Ž _ _ _ je ostra.

R _ _ _ _ _ _ _ je lahka.

K _ _ _ _ _ so močne.

Ž _ _ _ _ _ je iz železa.

I _ _ _ _ _ _ je dolg.

V _ _ _ _ je iz železa.

R _ _ _ _ ima ročaj.

P _ _ _ je v omari.

S _ _ _ _ _ _ je oster.
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kladivo

žaga    

rezljača    

klešče   

žebelj

izvijač   

vijak      

rašpa        

pila   

skobelj
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